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I Semester 8.Com, Examination, March/April ZOZZ

{Semester Scheme} {CBCS) (2C14-1S and Onwards}
COMMERCE

1.3 : Financial Accounting - |

Time : 3 Hours

lnstruction : Answer should be written completely either

in English or in Kannada.

SECT|ON - A
eFd - sf,

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
^ r .s..: + )<- -! -^.-. J 

- 
-:-: A -. ^---t--uJ].-; -J:wvj: c J;if --_,1.n: ir i-Eir,. BE :::-=,=-i-, I 

=:=-i*).
a) What do you mean by accounting standards ?

-tr_+ ^__:-_-l-U!:i;r- :J,:*:i :'t ;--Ol:f-'.,

b) Whatis slngte entry system ?
- - -)\^41 -- 

) 
-^-j^J- -;f,:J:J;f-J- JJr9 t.-w."ll_ '/

c) iVlenllon the method of purchase consideraiion.
l-:l .:- 1.1 1i^-.1a 

=^7.<\1 
c\^J\\< 

-< 
)rr{+a }r"q*v, w cJu _u_aJ__. v -L^;uJW_Ug_ ta ;Lliit iYCJ,- iyir.

d) What is reccupment of short wcrking
3rc"t*'*rir;J ?F5- :rudt :ld3(-, ?

e) Give any two reasons for conversion of a firm into a limited company.
z'od: aDe;rn.rod nofrol:d1&d$tud dcdilcnft dot8r*od clnsesddo add:
rodeail$dl8ePtu.

State two features of hire purchase,system.
^--.-i f ^-:- -t . 

--* 
<+\ -.--^)-r-- o-:.-t\/ ! v;l l J- J-,'- .,v O eJuJs iv t- --U{.J- i:i i. : I I :ra& \r\. :",

What is Realisation account ?

*i:sl;r3i,-:;U€** ?

?
J

s)

P.T.O.



QP - 261

SECTION _ B
eryod - e3

Answer any three questions. Each question carries six marks.
cin$mdds 3 dronvri tn:go:r. €,9 ilrgqr1 6 scdfiS:.

2. What are the functions of accounting ?
^i--f- 

-^Jq 

J_-j_\vudJc ^Li, oe _'J_i ,y-.;:.,tt l.-,a_o :rru:r.

3. From the following information caiculate total sales.

i illilllI ilil ill ililt ilffi fiil ilil

{3xS=18}

Opening eiebtors

Closing debtors

Cash received from debtors
Discount allowed

B/R received from debtors
Bad debts written-off
di dqjnd drob8rl€cd e"agdnm$ ruraddd: dcd.:toBol:o.

1,

anrdc$d efuSrl%ir

sc3d: aJ:SrX$;,

ab$r19od**cd drld:
f-oeGz3so doeJC:eJeJo
ficn8rlgcd r*cl,ri ddd gicB
ddc*: me; dscd>&cj:

{
co,uuu

40,000

25,600

i,600
10,000

1,200

56,000

40,ooo

25,600

1,600

10,000

i 1,200

4 Prepare an'Snalyticai tabre of royalties from the following details :

Minimum rent T 20,000 p.a.

Royalty T 2 per ton of are raised,

Short working are recoverable {uring the first 3 years of the lease onlv
The output for the first 4 years was :

2018 : 2,000 tons

2019 : 5,000 tons

2420 ; 15,000 tons

2A21 '20,00C tons

a)

b)

v)

/.l\w)
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ds d$dcd &ddrtecd oozsdd a{edraa dq,oI:q dafoo& :

ai E.:{ eeari ddrfo T 2s,m0

b) cnxdd T z de $qri

c) docrd wad"sc*abo rierd ddd dods s ddritse)*dng &oddo*:gd;
d) dede mu:pHrrld eruacjaj

2018 :2,000 uid:orld:

2A19: 5,000 nad:orl$;

2A20 : 15,000 :rI: -r-J

2021 . 20,000 r,srborls;

5' Mr' Kumar purchase a motor€ron hire purchase system. calculate cash price
of the motor car from the following :

Down paynrent T 1o,0oo,1styearly insta[ment t 14,000, 2nd yearly installment
t 18,ooo, sd year{i insta$ment T 16,ss0, rate of interest .tOyo p.a.
dldEifddcb doeend:: aaddl errGrl drDsr&do]: dqeofus_ &)oeoxrdd]. & dgnd
edditsod u uaod drtcb aidcdrq *oc*toe0ft:o.
dr:orld dsa t 1 0,00b ; dode,: aa&rd dceb t 1 4,000; addde m&rd ded) { .t 

B,Oso;
dlodde m.trd dcdl t 16,500 uqdd ar.tE? ge. 10.

6' From the followin$'oetails calcutate purchase consideration from the fol1owing :

The purchasing co- has agreed to issue 30,000 equlty shares of t 1o each at a
par, 1000, g% preference share of r 100 each at a par, 1000, 6% debentures
of r 100 each at a discount of 10% and pay eash equar to T 2b,000.
* dsnd addrlgod $oea aJejo*)de dod:&Gd:o.
a)oro:Jd dcdcofu T 10 d*$ddo$ 80,000 rednd, de*risdi &e&d:. 1,000,
de- Bd 4da*: ds$ dedod$d,a at,,slaJdcb ? 100dCI_ &e*do. 1,000 de. 6dt 100 &$?rdo$ raoapirl$e dr. 10d oolraog:g ddde)* &ead) a$d) dild)
t 25,000. j

QP - 261



QP - 261

SECTION _ C

iqEil - 1.)

Answer any three questions. Eaeh question carries 14 marks'

*, * i hA :^lx t tr:^ 
= 

c -" 3 a)a:.r\ ; i1 r: 3 b :. . -, 3 
=,7.a 

1 4 
= 

: z ;i :r:'

7. Ascertain credit purchases and credit sales frorn the following

Sundry debtors 1-1-24

Sundry debtors 31 -1 2-20

Sundry creditor 1-1-24

Sundry creciitors 3i -12-24

Cash received from debtors

Bills receivables dishonoured

Cash paid to crediiors

Discount allowed

Discount received

B/R receirled from debtors

BiP accepted from creditcr

Bad debts

-4- i lllriilr llll! lll lllil lllll llll llll

{3x14=42)

14,000

10,000

8,000

9,500

.. 6,400

400

2,000

400

2W

2,500

5,BOO

300

dqjn iilol"3d:5 ;*Cdsrcd r;siincDt.l ;l3J aej,ei3€;c'j)da drd:3cao}:O.
i!

:)JJttfi+J 1-1-20

;tJ:dil* 31-12-24

-AJ4r- 
a 4 

^rnJr*l\:'- l- l-ZV

6&i1rt 31-12-24
-,J--Ar-j ^- . \ 

^- --r\lD.ll?Il:"-w * -w :-/ t*P
C <r'^

,iOr; tin.i. 9J iL- wCJl lY-+-.,

<: *-rJ j^.- -\ -*-\.-:-l lvr I O-i, l:{ ILg

4 acfi:. oo '" 9 -\ L(,tl^i qi* wv
eJ u)

{-r:a dnd:rslE-J
aij: d d + c d r.'. dddd J. un*.

; r,,I+fi d::EVEu 5J. &fi *-)

-^-^-*'/< 
nc-

ru ru -gJ r':j i-) r,'- i
L

14,000

10,000

8,000

9,500

6,400

400

2,000

400

204

2,500

5,800

300
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8- Manu purcfrce a p*ant costing { 1,m,ffi on t-4,f6 fus, e#o#w.} E_H- rs}*etr

Hire grcfiase system. Tte terms being T 4S,Cffi fumn reIffrBsard b&nce in
ftrce eSJd arrH.d krshHnents together with ir&rest dg$% F-a ar! ess&rdar€
casft prhe- Depeciation il to be charged at 15?* p,a. urder $tr-aqf,et6rffi ffitf,#.
Prepare the necessary ledger account in the boolrs of &&an* ur&r assets
accrual rnethd.

a':d.: acapddo e.cd: o$c$cdoo doedif sil;aJa.ddocd 1-4-16dod;
t 1,60,00011 anaii dgeo$o_aDorox)md adcdd dddyt$ d#odo&d,
d::cild dea mdSxr* T 40,000, e,Dsd dmaH:n 3 nd) ti"xrr* sc*rt${aro.nrd
de- 20 a:e ffi:ed aad8 dracil$eb. ob€dq *ee eldo* abreJ m&rd de" lsd
dddCI_xd8s drlol})drb {s. L. M.).

$"bddd {r{ddo*urldraad dcddodason uao*di doodod dggo$o_ddu udoro.

9' Satish Kumar bdsed on oil wetl from ABC Ltd. on i -1-1T the minimurn rent was
T 2,00,000 and royalty was t 20 per ton of crude oit raised.

The short working were recoverable in the succeeding two years of such short
working' The output during'the first 4 years were 5500, 8000, 11250, 12500 tons.

Prepare minimum rent a/c Royalty a/c, shdrt working alc, ABC oil Ltd. accour.rt

in the books of tatish Kumar.

1-1-17 dod: iSesdcdxd acar:dcb aalr eaJuJd udood e.oc: -rdmaaoJ:d:
tug ri ddam o- da{ zaoari T 2, 00,000 d$.:. mxfd dn#rid dastrd, ed {& eiqd t 20
erflcbdd. ccxdd dsddoJ:eldrldd erudaad add: ddrd$ z.qtrl cr:od:drasqdd:.
:s,ade oauru ddrrlqr erooa ddob 9 "ilffi n ss00, 8000, 1 1 2s0, i 2s00 e^rdirlm nd.
xgeerd;dndddd d{dde-dn{ marl a:ad, ooudd end, dodd *dd sycd aJ:d:

az3ri Otur^lcs ayoddgd; ddca:o.
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10. a) From the following information calculate cash price

Down PaYment - ",l,500.

lst installment payable at the end of l st year - 10,800

llnd installment payable at the end of 2nd year - 10,350

lllrd installment payable at the end of 3nd year - 9,900

lvth insiail'neni payable ai the end of 4th year - 9,450

Rate of interest - 5% P.a'

63 diElr\- ;dJilE3c tj^,ijJ -i15j tr5:JJi'J 6:a:b&31:L,'

*-..Cfiddfa-1,500
,-{. <^:?r ;-OCsilC: *di-d c:d.-J-;relSieierCfl&--tl eir - 10,800

IIoe dcg!;Odllcl:;('; src€-de^ m*SiiJeetrld:+cr - 10,350

lllde dcd: tJradi€cJ) ;*.. s3s-cq-lilSreitmrrd:dd: - 9.900

rl r--.1- +^ j- 
- 

.. jr ^-- :-:--, 
= lJ I -- Ti.a.ei,.i,:il nJJQd: - 9,450

I V :)t C -9' :J: - a- i -w ':qr- 
w

='
---.:.-- ..c.a- +. - 

(-:-:
--rdii v v-{wv v\' vvvv'

b) From the following information you are required to cietermine the amount of

total sales.

Openirp stock-T 80,000

Purchase - T 4,00,000

Closing stock-{ 70,000

Hate oi gross Profit on sale = 1lo

dot^i$d dnhSci:cd utr* il>msi#di dcd:&Ecs:o'

sooq:d idd:drt - T 80,000

$OeCIrl.i: - { 4,00,000

so3d: idd:rlq:; - { 70.000

JsJ?m$d A:edd i,:ae;e,tr-i CO = lle
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11. Ram and Prem are Fartner having profit sharing ratic of 2:"! and their Balance

Sheet as on 31-3-21 was as follows :

-7-

LiabHities

Creditor

BIP

Ram's loan

Ram's capital

Prem's capital

Reserve fund

T

40,000

10,000

20,000

30,000

20,000

6,000

1,26,000

Assets

Cash in hand

B/R

Debtors - 60,000

(-) Reserve -3,099
Stock

Machinery

{

3G0

5,000

57,000

43,700

20,000

1,26,000

They agreed to sell the business lo a Limited Co. and the Co, to take over the

assets and liabilities as follows :

Machinery at T 16,000, stock at T 35,000, debtors at T 50,700, BIR at 5,000

and Goodwill at { 6,000. The company agreed to take one creditors at T 38,000

and BiP at t 10,bOO, the expenses of realisation amounted to t 3OO. The firm

received ( 40,000 of the purchase price in { 10 full paid equity shares and the

balance in cash.

Distribute the shares as per originalcapital ratio. Prepare the necessary ledger

accounts in the books of the firm.

t
40,000

10,000

20,000

30,000

20,000

6,000

1,26,000

{

300

s,000

57,000

43,740

20,000

1,26,000

u1rl$c

drldr d.cJ:CI- ot

pda3ead d:o&

"snsdrlqb - 60,000

a)€Serag dad - 3,000
::{rr^rcrn 9 C\.L/

3

c$cdoredddea

oc&. ;3:* {,eatn cd d{FSd: 2:1d drdnrade} doz3dosj:d ros:mdd,: d}e
"add (Jxr-amsub_o dej 31 -3-21dr)_d{ D(E.ad.3Ac.J-

sardspOrl$Jo
Ly'Nr l'D'\,r

d;adaJerrd d;cad*.:

--)JJ-)J - 
--Udc^!-OeJO ^tciU

-JJJJJ 
- -^-)--J

Lrdc^I)- UcJ U k) JGgcJd?

€,€rtfd#d ucdoa*

a:eds: &Q
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+^;^r-_.- - j J- ^ j ^ ^---_e;wlr- \:rr :^Jr"J,yL) ^,-^, -aJv:v; ;-(r- a--v-i*g Uw:Jpll cJvrUJ- ;i /'t a.iGiu-r.wirtrw{!
J-:J1 ^J-J-\ . 

-,,J\ 
r-:-Jr^-^-3.::--: ^ - Jr-O-3;CJ-pvJ-Uv U-, .J.-t}- G-J-iwrrji):':,,- :ri C>';-*Ut? r7/\wUJ::':r'- ac,JLj\-^-.

ri,;:,:l:-l

,:J:cdereddosad#J T '16,000, xud;il9: { 35,000, al:r:ilf: T 50,700, *rrcri€il-

6)c&tqj: { 5,000 d:3] t"\)mst { 6,000. Ec*a$Jnil Fi,i1lri; t 38,000 illr;1

rl-rid:aos;s: L"&dft. d:;E;sa;;)cGfig,: { 10,000 E ii;.-.JJ =ti T 300.vJdzi

c,u-ei-rex.5dJ { 40,000ilqi*1,r€'gQ-id doeldcs- { i0 ;gt: {i9-- r:-t.il;;.:e.i t, n

,{,t


